Frl R TOHATSU

RER

o

=<

#a

b=y

8
SUS304
neE E%ﬂ(?[;ﬁlﬁ) I&FFF'ﬂ,mé‘é(%%) EE(?‘F?\&) B

FRWI-2-1.0D 1.0D 2.0
FRWI-2-1.5D 1.5D 3.0
FRWI-2-2.0D M2x0.4 2.1 2.0D 4.0
FRWI-2-2.5D 2.5D 5.0
FRWI-2-3.0D 3.0D 6.0
FRWI-2.5-1.0D 1.0D 2.5
FRWI-2.5-1.5D 15D 3.8
FRWI-2.5-2.0D M2.5%0.45 2.6 2.0D 5.0
FRWI-2.5-2.5D 2.5D 6.3
FRWI-2.5-3.0D 3.0D 7.5
FRWI-3-1.0D 1.0D 3.0
FRWI-3-1.5D 1.5D 4.5
FRWI-3-2.0D M3%0.5 3.2 2.0D 6.0
FRWI-3-2.5D 2.5D 7.5
FRWI-3-3.0D 3.0D 9.0
FRWI-4-1.0D 1.0D 4.0
FRWI-4-1.5D 15D 6.0
FRWI-4-2.0D M4x0.7 4.2 2.0D 8.0
FRWI-4-2.5D 2.5D 10.0
FRWI-4-3.0D 3.0D 12.0
FRWI-5-1.0D 1.0D 5.0
FRWI-5-1.5D 15D 7.5
FRWI-5-2.0D M5x0.8 52 2.0D 10.0
FRWI-5-2.5D 2.5D 125
FRWI-5-3.0D 3.0D 15.0
FRWI-6-1.0D 1.0D 6.0
FRWI-6-1.5D 15D 9.0
FRWI-6-2.0D M6x1.0 6.3 2.0D 12.0
FRWI-6-2.5D 2.5D 15.0
FRWI-6-3.0D 3.0D 18.0
FRWI-8-1.0D 1.0D 8.0
FRWI-8-1.5D 15D 12.0
FRWI-8-2.0D M8x1.25 8.3 2.0D 16.0
FRWI-8-2.5D 2.5D 20.0
FRWI-8-3.0D 3.0D 24.0
FRWI-10-1.0D 1.0D 10.0
FRWI-10-1.5D 1.5D 15.0
FRWI-10-2.0D M10x1.5 10.4 2.0D 20.0
FRWI-10-2.5D 2.5D 25.0
FRWI-10-3.0D 3.0D 30.0
FRWI-12-1.0D 1.0D 12.0
FRWI-12-1.5D M12x1.75 125 1.5D 18.0
FRWI-12-2.0D 2.0D 24.0

SE I NEY

FRWI-2-1.0D



FRWI IBAHE TOHATSU

AR

BER
- IBAUE R 18-S AIEIEHIEETAL » TUAISREEBIB100kg/mm” Mk
AR 8 HETE
SRR RESMBL > DR  BNBAMREMBERE ;
WHEF 2 (£

(EX. JELaE]
HEAMERET > AR NBAREAMENET
BPENHERE T - R AN NS4S S MRS RE

2GR 4% EREBEZRINIBL
== i
v v
BAMREH AR ©
1.58%L . BHAHE 4 5EFEER

V‘

S ERBWTE
BT

i

MBITE TREREE R

2.5

FBFESIREEA TR
REHABR S TE
ED—EFEE

A ERBRAIRE
HRMIBGETHT



